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HEN
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xyz 000 OO0O0OO0OO0OOOOOOODRC DOODOOOO
mopac U0 000000000 O0O00OOODO

implicit real#8(a-h,o-z)
real*8 kine,kineall ,kineall?2
integer drc,which

character*32 jobname,inputdata
character*50 tmpl

ao oo

parameter (ntmp=300)

character*2 atom(ntmp)

dimension x(ntmp),y(ntmp),z(ntmp)

dimension xx{(ntmp),yy(ntmp),zz(ntmp),r(ntmp)
dimension ax{(ntmp),ay(ntmp),az(ntmp)
dimension bx{(ntmp),by(ntmp) ,bz(ntmp)
dimension cx{ntmp),cy(ntmp),cz(ntmp)
dimension dx{(ntmp),dy(ntmp),dz(ntmp)
dimension v(ntmp),number(ntmp) ,which(ntmp)
dimension weight(ntmp),thermo(ntmp) ,nx(ntmp)

jobname 00 O0O0O0O0OOOOOOOOOO

call getarg(l,jobname)
j=index(jobname,’ ’)-1
open(60,file=jobname(:j)//’.xyz’)

goooooboo

read(60,*) n

read(60,’(a)’) tmpl

doi=1,n

read(60,*) atom(i),x(i),y(i),z(i)

end do
close(60)

oooooo

doi=1,n

if(atom(i).eq."H") weight(i)=1.008
if(atom(i).eq."He") weight(i)=4.002602
if(atom(i).eq."HE") weight(i)=4.002602
if(atom(i).eq."Li") weight(i)=6.941
if(atom(i).eq."LI") weight(i)=6.941
if(atom(i).eq."C") weight(i)=12.011
if(atom(i).eq."F") weight(i)=18.998
if(atom(i).eq."N") weight(i)=14.00674
if(atom(i).eq."C1") weight(i)=35.4527
if(atom(i).eq."CL") weight(i)=35.4527
if(atom(i).eq."Ar") weight(i)=39.948
if(atom(i).eq."AR") weight(i)=39.948
if(atom(i).eq."Br") weight(i)=79.904
if(atom(i).eq."BR") weight(i)=79.904
if(atom(i).eq."I") weight(i)=126.9045
if(weight (i) .eq.0.0d0) stop

end do

goooooo

call input(drc,thermo,inputdata,n,
g&nnn,nx,ax,ay,az,which,number,cx,cy,cz)

goooooooo

xx(1) = x(1)

yy(1) = y(1)

zz(1) = z(1)

sweightl = weight (1)

doi=1, nx(1) -1
sweight2 = sweightl + weight(i+l)
xx(1)=(sweightl * xx(1) + weight(i+1) #* x(i+1))/sweight?2
yy(1)=(sweightl * yy(1) + weight(i+1) #* y(i+l))/sweight?2
zz(1)=(sweightl * zz(1) + weight(i+1) #* z(i+1))/sweight2
sweightl = sweight2

end do

oooooo

doi=1, nx(1)
r(i) = sqrt((x(1)-xx(1))**2+(y (1) -yy (1) ) *#*2+(2(i) -2z (1) ) #*2)
end do

00000000O00ooooon

doi =1, nx(1)
dx(i) = rand()

aon

aoon

a0

aon

aoo

a0

aon
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dy(i) = rand()
dz(i) = rand()
end do

gooooooooboboooooooo
heikin = 0.040
doi’=1, nx(1)
heikin = heikin + dx(i) + dy(i) + dz(i)
end do

heikin = heikin / nx(1) / 3
doi =1, nx(1)

dx(i) = dx(i) - heikin

dy(i) = dy(i) - heikin

dz(i) = dz(i) - heikin
end do

uengy = 1.5d0 * 1.380658d-23*thermo(1)

call move (x,y,z,xx,yy,zz,r,dx,dy,dz,nx,uengy,weight ,n,v)

goooooad

do i =1 ,nx(1)
dx(i) = dx(i)
dy(i) = dy (D)
dz(i) = dz(i)

end do

Jooooooooooooooog
totalkine = 0.0d0O

do i =1, nx(1)
v(1)=dx (1) **2+dy (i) **2+dz (i) **2

kine = 0.5d0 * weight(i) * v(i)*1.6605402d-27

totalkine = totalkine + kine
end do

totalkine = totalkine / nx(1)
t2 = sqrt ( uengy / totalkine)
do i =1, nx(1)

dx(i) = dx(i) * t2 * 10040

dy(i) = dy(i) #* t2 * 10040

dz(i) = dz(i) * t2 * 10040
end do

gobooooooooo

do j = 2, nnn+l

ooao
tt = 1.040
nl = nx(3j-1) + 1
n2 = nx(j)

gobooooob 1 oooooooboooobooooboobooo
gobooooooooo

if(nl.eq.n2) then
xx(j) =
yy(j) = y(nl)

goto 100
end if

call roll (x,y,z,xx,yy,zz,ax,ay,az,
&bx,by,bz,r,weight,n1,n2,n3,j,n)
write(*,%) > JOOOooO0O?
write(x,*) xx(j),yy(j),zz(j)

vi : 0000 (DOoOoOoooo)
v2 : 0000 (DOoOoOoooo)
tt : 0000 /00000000

2000000 ¢t =1.5 0000

if(n2-nl.eq.1) then
tt = 1.5d0
else
do i = n1,n2
vl = vl + weight(i) * r(i)**2
end do

do i = nl1 ,n2
v2 = v2 + weight (i)
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end do
tt = sqrt( v1 / v2) / r(n3)
end if

write(*,*) tt

c
100 call attack (x,y,z,xx,yy,zz,cX,Cy,cz,j,tt,n,which,number)

aooa o o

aoaoon

aon

aon

write(*,%) > 00000000
write(*,*) cx(j),cy(j),cz(j)

do i = n1,n2
dx(i) = bx(i) + cx(j)

dy(i) = by(i) + cy(j)

dz(i) = bz(i) + cz(j)
end do
call kinetic (weight,thermo,dx,dy,dz,nl,n2,t1,n,v,j)
end do

oooooooooo
kineall = 0.0d40
do i 1

=1 ,n
v(i) = dx(D)**2 + dy()**2 + dz(i)**2
kineall = kineall+0.5d0O*weight (i)*v(i)#*1.6605402d-27

end do

kineall = kineall * 1.0d-4 / n

kineall2 = kineall / 1.60218d-19

write(*,*) kineall2, ’[eV/atom]’

kineall = kineall * 6.022d23 * 0.239006 * 1.04-3
kineall = kineall * 1.43862d16

go00b0O000 sub-out

j=index(jobname,’ ’)-1
open(61,file=jobname(:j)//’.dat’)
write(61,1002)
if(drc.ne.0) then

write(61,1003) drc

else
write(61,1004)
end if
write(61,1007) drc,kineall, (thermo(i),i=1,nnn+1)
doi=1,n
write(61,1001) atom(i),x(i),y(i),z(i)
end do
write(61,*) ’ °

do i =1,n
write(61,1005) dx(i),dy(i),dz(i)
end do

write(61,*) *
write(61,*) 7
close(61)

xyz J000000OO0OO0OCOO

doi=1,n

dx(i) = -dx(i) * 0.00001d0
dy(i) = -dy(i) * 0.00001d0
dz(i) = -dz(i) * 0.00001d0
end do
j=index(jobname,’ ’)-1

open(60,file=jobname(:j)//’ .xyz’)
write(60,%) n
write(60,#%) tmpl
doi=1,n
write(60,1006) atom(i),x(i),y(i),z(i),dx(i),dy(i),dz(i)
end do
write(60,*) *
write(60,*) *
close(60)
write(*,%) > OOOO?, ti*tt , ’ cm/sec’
write(*,%) > 0000000, kineall , ’ kcal/mol’

oo

doi=1,
dx (i)
dy (i)
dz (i)

end do

j=index(jobname,’ ’)-1

open(60,file=jobname(:j)//’ .temp’)

write(60,*) n+2

write(60,#%) tmpl

doi=1,n
write(60,1006) atom(i),x(i),y(i),z(i),dx(i),dy(i),dz(i)

dx(i) * 100.0d0
dy(i) * 100.0d0
dz(i) * 100.0d0

s
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1000
1001
1002
1003
1004
1005
1006
1007
1008

O

end do

write(60,1000) xx(1) , yy(1), zz(1)
write(60,1000) xx(2) , yy(2), zz(2)
write(60,*) *

write(60,*) *

close(60)

format(’ XX ’,f10.5,f10.5,f10.5)

format(a5,£9.4,’ 0 ’,£9.4,> 0 ’,£9.4, * 07 )

format(’T=1.0D NOINTER GNORM=0 PM3 GEO-0K UHF SHIFT=2 PULAY &’)
format(’VELOCITY T-PRIORITY=5.0 LARGE=-1 DRC=’,I3)
format(’VELOCITY T-PRIORITY=5.0 LARGE=-1 DRC ’)
format(£20.5,£20.5,£20.5)

format(ab,f9.4,f9.4,f9.4,f11.5,f11.5,f11.5)

format(’DRC=’,I13,’, kine=’,f10.3,’ T=’ ,£7.1,’,’ ,f7.1,£f7.1,£f7.1)
format (£10.5)

stop

end

real function rand()
integer c,k,r,m

real maxr
parameter (c=656329,k=163,

& M=12518383,maxr=12518383.0)

save R

data R/12345678/

r=mod (k*r+c,m)

rand=real (r) /maxr

return

end

subroutine roll (x,y,z,xx,yy,zz,ax,ay,az,
&bx,by,bz,r,weight,n1,n2,n3,j,n)
implicit real#8(a-h,o-z)

parameter (ntmp=300)

dimension x(n),y(n),z(n),r(n)
dimension xx(n),yy(n),zz(n)
dimension ax(n),ay(n),az(n)
dimension bx(n),by(n),bz(n)
dimension tx{ntmp),ty(ntmp),tz(ntmp)
dimension weight(n)

goooooboo

xx(j)=x(n1)

yy(j)=y(nl)

zz(j)=z(n1)

sweightl = weight(nl)

do i =nl,n2-1

sweight2 = sweightl +weight(i+1)

xx(j) = (sweightl * xx(j) + weight(i+1) * x(i+1))/sweight2
yy () (sweightl * yy(j) + weight(i+1) * y(i+1))/sweight?2
zz(j) = (sweightl * zz(j) + weight(i+1) * z(i+1))/sweight2
sweightl = sweight2

end do

tx,ty,tz : 1 0000000000 00000000

bx,by,bz : 1 00000000 O0O0O0O0O0O0O

r(i) i 0000000o0OoOoOooOOO coooo)

do i = n1,n2

t=((x(1)-xx(j)) *ax (+(y () -yy(§)) *ay(j)+(z(i)-zz(j))*az(j))
& /(ax(j)**2+ay (j)**x2+az(j)**2)

tx(i) = ax(j) * t + xx(j)

ty(i) = ay(j) * t + yy(j)

tz(i) = az(j) * t + zz(j)

r(i) = sqrt((tx(1)-x (D)) #*2+(ty (1) -y (1) ) #*2+(£z (i) -z (1) ) #*2)

bx(i) = ay(j) * (z(i)-tz(i)) - az(j) * (y(i)-ty(i))
by(i) = az(j) * (x(i)-tx(i)) - ax(j) * (z(i)-tz(i))
bz(i) = ax(j) * (y(i)-ty(i)) - ay(j) * (x(i)-tx(i))
bx(i) = bx(i) * r(i)

by(i) = by(i) * r(i)

bz(i) = bz(i) * r(i)

end do

ogoooad

n3 : 0J00000O00O0OOOOOOO

rmax : JO0O00O0O0O0O

bmax : 000000000000 QOOO)
rmax = r(nl)

n3 =n

do i = ni1+1,n2

if (r(i).gt.rmax) then

rmax = r(i)

n3 = i

end if
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end do
bmax=sqrt (bx(n3)**2+by (n3) *¥2+bz (n3) **2)

bx(i) = bx(i) / bmax
by(i) = by(i) / bmax
= bz(i) / bmax

return
end

subroutine attack (x,y,z,xx,yy,zz,cx,cy,cz,j,tt,n,which,number)
implicit real#8(a-h,o-z)

integer which

dimension x(n),y(n),z(n)

dimension xx(n),yy(n),zz(n)

dimension cx(n),cy(n),cz(n)

dimension which(n),number(n)

if(which(j).eq.2) then

cx(j) = 0.0d0
cy(3) = 0.0d0
cz(j) = 0.0d0
cx(j) = x(number(j)) - xx(j)
cy(j) = y(number(j)) - yy(j)
cz(j) = z(number(j)) - zz(j)
else
if (which(j).eq.1) then
else
stop
end if
end if

cmax=sqrt (cx () **2+cy(j)#*2+cz () **2)

cx(j) = -cx(j) / cmax * tt
cy(j) = -cy(j) / cmax * tt
cz(j) = -cz(j) / cmax * tt
return

en
goooooooooobooooooon
oooooo

subroutine kinetic (weight,thermo,dx,dy,dz,nl,n2,t1,n,v,j)
implicit real#8(a-h,o-z)

dimension dx(n),dy(n),dz(n)

dimension v(n),weight(n),thermo(n)

real*8 kine

kine = 0.0d0

do i = nl, n2

v(i) = dx(D)**2 + dy()**2 + dz(i)**2

kine = kine+0.5d0*weight (i)*v(i)*1.6605402d-27
end do

poten=1.5d0*(n2-n1+1)#*1.380658d-23*thermo(j)
t1 . 000000000 1 00000
goooooo0oOd- +1 = ¢t = 0000

tl = sqrt ( poten / kine ) * 10040

do i = n1,n2

dx(i) = dx(i) * t1
dy(i) = dy(i) * t1
dz(i) = dz(i) * t1

end do

return

end

ig000o00oooooo0ooooboooobooooobooo

subroutine move (x,y,z,xx,yy,zz,r,dx,dy,dz,nx,uengy,weight,n,v)
implicit real#8(a-h,o-z)

parameter (ntmp=300)

dimension x(n),y(n),z(n)

dimension xx(n),yy(n),zz(n),r(n)

dimension dx(n),dy(n),dz(n)

dimension fx{(ntmp),fy(ntmp),fz(ntmp)

dimension v(n),fv(ntmp)

dimension weight(n) ,nx(n)

real*8 kine
real*8 mvx,mvy,mvz

integer count
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1000000000000 "uengy" OOO
x,y,z 00000000000 "o"D
x,y,z JO000O000O00O0O0O "o" O

oo

mvx
nvy
mvz
WMVX

0.0d0
0.0d0

0,0d0
0.0d0
Hmvy 0.0d0

Wmvz 0.0d0

do i = 1,nx(1)
v(i) = dx(i)#*2 + dy(i)**2 + dz(i)**2
kine = 0.5d0 * weight(i) * v(i) * 1.6605402d-27
t2 = sqrt ( uengy / kine)
dx(i) = dx(i) * t2
dy(i) = dy(i) #* t2
dz(i) = dz(i) * t2
end do
goooooobooooooo oo

doi=1, nx(1)
mvx = mvx + weight(i) * dx(i)

mvy = mvy + weight(i) * dy(i)
mvz = mvz + weight(i) * dz(i)
end do

mvx
nvy
mvz

doi=1, nx(1)
dx(i) = dx(i) - mvx / weight(i)
dy(i) = dy(i) - mvy / weight(i)
dz(i) = dz(i) - mvz / weight(i)
end do

goooooboo
x J0ooooooooo

doi=1, nx(1)
ey = - z(i) + zz(1)
ez =  y(@i) - yy(1)
fy(i) ( (dy(id*ey + dz(i)*ez) / (ey**2+tez**2)) * ey
fz(i) ( (dy(id*ey + dz(i)*ez) / (ey**2+tez**2)) * ez
fv(i) = sqrt( fy(i)**2 + fz(i)**2 )

end do

ogoooad
do i =1 ,nx(1)

if(y(i).1t.yy(1)) then
if(£fz(i).1t.0.0d0) then
fv(i) = -fv(i)
SEf(fz(i).eq.O.OdO) then
write(*,*) ’error’
stop
end if
1Sgnd if
if(y(i).gt.yy(1)) then
if(fz(i).gt.0.0d0) then
fv(i) = -fv(i)

se
if(£z(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if
end if
se .
if(y(i).eq.yy(1)) then
if(£y(i).1t.0.0d0) then
fv(i) = -fv(i)
end if
e
write(*,*) ’error’
stop
end if
end if

end if
end do

goboboooooobobbOOOobOObOOO

doi=1, nx(1)
wmvx = wmvx + weight(i) * fv(i) / r(i)
end do

wmvx = wmvx / nx(1)

mvx / nx(1)
mvy / nx(1)
mvz / nx(1)

el

e

el

el

els
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do i =1, nx(1)

dy(i) = dy(i) - wmvx / weight(i) * r(i) / fv(i) * fy(i)
dz(i) = dz(i) - wmvx / weight(i) * r(i) / fv(i) * fz(i)
end do

y oooooooooo
doi=1, nx(1)

ez = - x(i) + xx(1)
ex = z(i) - zz(1)
fz(i) = ( (dz(i)*ez + dx(i)*ex) / (ez**2+ex**2)) * ez
fx(i) = ( (dz(i)*ez + dx(id*ex) / (ez**2+ex**2)) * ex
fv(i) = sqrt( fz(i)**2 + fx(i)**2 )

end do

ogoooad

do i =1 ,nx(1)
if(x(i).1t.xx(1)) then
if(£z(i).1t.0.0d0) then
fv(i) = -fv(i)
se
1f(£fz(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if
end if
se
if(x(i).gt.xx(1)) then
if(fz(i).gt.0.0d0) then
fv(i) = -fv(i)

se
if(£z(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if
end if
se
if(x(i).eq.xx(1)) then
if(£x(i).1t.0.0d0) then
fv(i) = -fv(i)
end if

e
write(*,*) ’error’
stop

el

el

el

el

els

goboboooooobobbOOOobOObOOO

doi=1, nx(1)
wmvy = wmvy + weight(i) * fv(i) / r(i)
end do

wmvy = wmvy / nx(1)
do i =1, nx(1)

dz(i) = dz(i) - wmvy / weight(i) * r(i) / fv(i) * fz(i)
dx(i) = dx(i) - wmvy / weight(i) * r(i) / fv(i) * £x(i)
end do
z 0O0OOOOODOO
doi=1, nx(1)
ex = - y(i) + yy(1)
ey =  x(i) - xx(1)
fx(i) = ( (dx(i)*ex + dy(id*ey) / (ex**2+ey**2)) * ex
fy(i) = ( (dx(i)*ex + dy(i)*ey) / (ex**2+ey**2)) * ey
fv(i) = sqrt( £fx(i)**2 + fy(i)**2 )
end do
goooo

do i =1 ,nx(1)
if(x(i).1t.xx(1)) then
if(£y(i).1t.0.0d0) then
fv(i) = -fv(i)

se
1f(£fy(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if
end if
se
if(x(i).gt.xx(1)) then
if(fy(i).gt.0.0d0) then
fv(i) = -fv(i)

else
if(£fy(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if

el

el
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a0

aO o000 00

70

end if

else
if(x(i).eq.xx(1)) then
if(£x(i).1t.0.0d0) then
fv(i) = -fv(i)

end if

e
write(*,*) ’error’
stop

goboboooooobobbOOOobOObOOO

doi=1, nx(1)
wmvz = wmvz + weight(i) * fv(i) / r(i)
end do

wmvz = wmvz / nx(1)
do i =1, nx(1)

dx(i) = dx(i) - wmvz / weight(i) * r(i) / fv(i) * fx(i)
dy(i) = dy(i) - wmvz / weight(i) * r(i) / fv(i) * fy(i)
end do

gooooooooon
0000000000000 "10 cm/sec OO0

data=abs (mvx)+abs (mvy)+abs (mvz)+abs(wmvx)+abs (¥mvy)+abs (wmvz)

count = count + 1
if(count.1t.100) then

if(data.gt.10.0d0) goto 400

end if

return

end

subroutine input(drc,thermo,inputdata,n,
g&nnn,nx,ax,ay,az,which,number,cx,cy,cz)
implicit real#8(a-h,o-z)

integer drc,which

character*32 inputdata

dimension ax(n),ay(n),az(n)

dimension cx(n),cy(n),cz(n)

dimension nx(n)

dimension number(n) ,which(n),thermo(n)

call getarg(2,inputdata)
in=index(inputdata,’ ’)-1
if(in.eq.0) then
write(*,*) ’DRC = 2 000 0O00OOOOO?
read(*,*) drc
write(x,*) * 0000000 10000002
read (*,*) nx(1)
write(*,%) > 0000007
read (*,*) thermo(1)
if(nx(1) .eq.n) goto 80
write(x,*) * 00000000000 OOO?
read(*,*) nnn

do j = 2 , nnn+l
write(x,*) j-1,° 000000
write(*,*) nx(j-1)+1,°’ 0000000000000 OO??
write(x,*) * 000000000000 0OOODOOOO?
read(*,*) nx(j)
write(x,*) > 0O =7
read (*,*) thermo(j)
if(nx(j-1)+1.eq.nx(j)) goto 70
write(*,*) > 0000000000 (x,y,z)°
read (*,*) ax(j),ay(j),az(j)

write(x,*) > OJO00000O0OOOOOOOO?
write(*,*) ’ xyz0OUOOUOOOD 10000000DODO 2?
read (*,*) which(j)
if(which(j).eq.2) then

write(» %) 0 0000000O0OOOO”

read (*,*) number(j)

se
if (which(j).eq.1) then
write(x,*) > 00000 xyz DOOO0ODOOOOO
read (*,*) cx(j),cy(j),cz(j)

else
goto 70

el
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else
open(70,file=inputdata(:in))
nnn = 0
read(70,*) drc
read(70,*) nx(1)
read(70,*) thermo(1)

if(nx(1) .eq.n) goto 80

do j = 2, 20
read(70,*) nl,n2
if(nl.ne.nx(1)+1) stop
if(n2.gt.n) stop
nx(j) = n2

read(70,*) thermo(j)

if(nl.ne.n2) then
read(70,*) ax(j),ay(j),az(j)
end if

read(70,*) which(j)
if(which(j).eq.2) then
read(70,*) number(j)

%t (which(j).eq.1) then
read(70,*) cx(j),cy(j),cz(j)
else
stop

end if
end if

nny = nnn + 1
1f?n2.eq.n) goto 80
end do
end 1{ .
80  write(*,x) ’data-input end’

close(70)
return
end

el
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DRC 00O out DDODOOOOOOODODOODOOOOOOO
gooooooooo

implicit real#8(a-h,o-z)

character*32 jobname

character*16 tmpl

character*6 tmp2

character*60 tmp60

parameter (nn=3000)

dimension x(nn),y(nn),z(nn)

dimension xx(nn),yy(nn),zz(nn)
dimension dx(nn),dy(nn),dz(nn)
dimension charge(nn),weight(nn),v(nn)
dimension mm(nn) ,r(nn),heat (nn)

character*16 atom(nn)
integer data

real time
jobname U0 UOO0OOO0OOOOOOOOO

call getarg(l,jobname)
jo=index (jobname,’ ’)-1

goooooboo

5 write(*,*) > 000000000000
write(*, *) gooooog - 12
write(*, *) gooooog - 202
write(*, *) gooooog - 32
write(*, *) oooo - 4

read(*,*) data
if(data.ge.5) goto 5
if(data.eq.1) open(61,file=jobname(:jo)//’.anm’)
if(data.eq.2) open(62,file=jobname(:jo)//’.energy’)
if(data.eq.3) then
open(63,file=jobname(:jo)//’> .dis’)
write(*,*) > JO000O0O0O0OOOO??
read (*,*) nni,nn2
end if

if(data.eq.4) then
open(64,file=jobname(:jo)//’ .thermo’)
write(x,*) 000000000 O0OOOOOO?
read (*,*) many
do k = 1, many
write(*,*) many ,> 0000000000022
read (*,*) mm(k) ,mm(k+1)
end do
end if
goooooobo
open(60,file=jobname(:jo)//’ .out’)
do i= 1,1000
read(60,*) tmpl
if ( tmpl.eq."NUMBER") GOTO 10
end do

oooooo
0

o i’= 1,300

read(60,’(a)’) tmpl

if ( tmpl.eq." CARTES'") GOTO 20
n = n+l

ao oo

aon

a0

>
>
>
>

a o000

[
c
10

n
m
d

end do
20 read(60,’(a)’) tmpl
read(60,’(a)’) tmpl
read(60,’(a)’) tmpl
n = n-4
write(*,*) n

c
c goooooooo
c
doi=1,n
read(60,*) number,atom(i),x(i),y(i),z(i)
end do
c
c goooooooooobooao
c

do i = 1,1000
read(60,’(a)’) tmp2
if ( tmp2.eq." INITI") GOTO 30
end do

c
30 do i=1,n
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aon

aoon

aon

a o000

aon

read(60,*) xx(i),yy(i),zz(1)

end do

doi=1,n
xx(i) = - xx(i) * 1.0d-5
yy(i) = - yy(d) * 1.0d-5
zz(i) = - zz(i) * 1.0d-5

end do

gooooad

doi=1,n
if(atom(i).eq."H") weight(i)=1.008
if(atom(i).eq."He") weight(i)=4.002602
if(atom(i).eq."HE") weight(i)=4.002602
if(atom(i).eq."Li") weight(i)=6.941
if(atom(i).eq."LI") weight(i)=6.941
if(atom(i).eq."C") weight(i)=12.011
if(atom(i).eq."F") weight(i)=18.998
if(atom(i).eq."N") weight(i)=14.00674
if(atom(i).eq."C1") weight(i)=35.4527
if(atom(i).eq."CL") weight(i)=35.4527
if(atom(i).eq."Ar") weight(i)=39.948
if(atom(i).eq."AR") weight(i)=39.948
if(atom(i).eq."Br") weight(i)=79.904
if(atom(i).eq."BR") weight(i)=79.904
if(atom(i).eq."I") weight(i)=126.9045
if(weight(i).eq.0.0d0) stop
weight (i) = weight(i) * 1.6605402d-27

end do

gooooooooooo

if(data.eq.1) then
write(61,%) n
write(61,%) 71’
doi=1,n
write(61,1001) atom(i),x(i),y(i),z(i),xx(i),yy(i),zz(i)
end do
end if
if(data.eq.3) then
call dis(n,time,x,y,z,nnl,nn2)
end if

if(data.eq.4) then
do k = 1 , many
ni = mm(k)
n2 = mm(k+1)
call thermo(n,ni,n2,v,time,atom,x,y,z,xx,yy,zz,
& weight, heat ,k,dx,dy,dz,r)

end do
write(64,1004) time,(heat(k),k = 1,many)
end if
goooooooobooo
mcount=1
do i= 1,1000
read(60,’(a)’) tmp2
if ( tmp2.eq." FEMTO") then
read(60,*) time,bbb,energyl,energy2,energy3
goto 33
end if
end do
33 large = 0
do i= 1,1000
read(60,’(a)’) tmp2
if ( tmp2.eq." ATOM") goto 35
large = large + 1
end do

xyz JO00O0O0O0OO
35 do i = 1,10000

mcount = mcount + 1

do j = 1,n
read(60,*) number,atom(j),x(j),y(j),z(j),xx(§),yy(ji),zz(j)

xx(j) = xx(j) * -0.00001d0

yy(ji) = yy(j) * -0.00001d0

zz(j) = zz(j) * -0.00001d0
end do

charge 00000
read(60,’(a)’) tmpl
read(60,’(a)’) tmpl
read(60,’(a)’) tmpl
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read(60,’(a)’) tmpl
read(60,’(a)’) tmpl
read(60,’(a)’) tmpl
if(n.gt.99) then
do j = 1,n
read(60,*) tmpl

read (60,2000) tmp60,charge(j)
end do
end if
gooobobooobooooo
(0000O0000oO0OO0DOoOoOoOooOoOoOoooOooooo
oooooooooooooo )

if(data.eq.1) then
call anm(n,time,energyl,energy2,energy3,mcount,
%atom,x,y,z,Xxx,yy,zz,charge)
end if

if(data.eq.2) then
call energy (time,energyl,energy2,energy3)
end if

if(data.eq.3) then
call dis(n,time,x,y,z,nnl,nn2)
end if

if(data.eq.4) then
do k = 1 , many
ni = mm(k)
n2 = mm(k+1)
call thermo(n,ni,n2,v,time,atom,x,y,z,xx,yy,zz,
& weight, heat ,k,dx,dy,dz,r)

a0 o oo

end do
write(64,1004) time,(heat(k),k = 1,many)
end if

oooo

do k= 1,1000
read(60,’(a)’) tmp2
if ( tmp2.eq." FEMTO") then
do 1 =1 , large-1
read(60,*)

aoonoon

end do

read(60,*) time,bbb,energyl,energy2,energy3
read(60,*)

read(60,*)

if ( tmp2.eq." TOTAL") GOTO 50
end do
c
40 m=m+ 1
end do
50 write(*,*) ’end’, m
c
1000 format(a5,f10.5,f10.5,f10.5)
1001 format(a5,f10.5,f10.5,f10.5,f10.5,f10.5,f10.5,f10.5)
1002 format(a5,f13.7,13,f13.7,13,f13.7,13,15,15,15,f12.4)
1003 format(f7.1,a8,’ poten.=’,f9.2,’ kine.=’,f9.2,’ total=’,f9.2,I5)
1004 format(f10.2,f17.5,f17.5,f17.5,f17.5,f17.5)

2000 format(a60,f12.4)
stop

end
gooooooooooooo

subroutine anm (n,time,energyl,energy2,energy3,mcount,
%atom,x,y,z,Xxx,yy,zz,charge)

implicit real#8(a-h,o-z)

dimension x(n),y(n),z(n)

dimension xx(n),yy(n),zz(n)

dimension charge(n)

character*16 atom(n)

real time

write(61,%) n

write(61,1101) time,’[fsec.]’,energyl,energy2,energy3,mcount

do j = 1,n

write(61,1102) atom(j),x(j),y(j),z(j),charge(j) ,xx(j),yy(j),zz(j)
end do

c
1101 format(f7.1,a8,’ poten.=’,f9.2,’ kine.=’,f9.2,’ total=’,f9.2,I5)

1102 format(a5,f10.5,f10.5,f10.5,f10.5,f10.5,f10.5,f10.5)
regurn
en

aon
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gooooboooooooooo

subroutine energy (time,energyl,energy2,energy3)
implicit real#8(a-h,o-z)
real time
write(62,1201) time,energyl,energy2,energy3
1201 format(£10.2,f12.5,f12.5,f12.5)

aon

return
end
c
c gooooooooobboooood
c
subroutine dis(n,time,x,y,z,nnl,nn2)
implicit real*8(a-h,o-z)
dimension x(n),y(n),z(n)
real time
c

r=(x(nn1)-x(nn2))**2+(y (nn1)-y(nn2)) **2+(z(nn1)-z(nn2) ) **2
r=sqrt(r)
write(63,1301) time, r

1301 format(£f10.2,f12.5)
return
end

gooooooboooooooo

subroutine thermo(n,nl,n2,v,time,atom,x,y,z,xx,yy,2z,
& weight, heat ,k,dx,dy,dz,r)

implicit real#8(a-h,o-z)

dimension x(n),y(n),z(n),xx(n),yy(n),zz(n)

dimension dx(n),dy(n),dz(n)

dimension weight(n),v(n),r(n),heat(n)

character*16 atom(n)

real time,kine

gooooooooo

kine = _0.0d0
heat(k) = 0.0d0
bol = 1.380658d-23

oooooo (cx,xy,cz)
cx 0.0d0

cy 0.0d0
cz 0.0d0

sweightl = 0.0d0
do i = nl1 ,n2
sweightl = sweightl + weight(i)
end do
do i =nl , n2
cx + weight(i) * x(i)
cy + weight(i) * y(i)
= cz + weight(i) * z(i)

a0

aon aon

[2]
»

c
c
end do

N

cx = cx / sweightl
cy = cy / sweightl
cz = cz / sweightl

do i =nl , n2
r(i) = sqrt((x(D)-cx)**+2+(y (i) -cy) **2+(z(i)-cz)**2)
end do

gooooooooooo

do i =nl , n2
dx(i) = xx(i)
dy(i) = yy(i)
dz(i) = zz(i)
end do
if(nl.eq.n2) goto 1500

call remove (x,y,z,xx,yy,zz,r,dx,dy,dz,weight,
& n,v,nl,n2,cx,cy,cz)

a0

c
[ gooooooooooo

c
1500 do j = nl , n2

v(j) = dx(§)**2 + dy(jI**2 + dz(j)**2
v(i) = v(j) * 1.0d6
end do
c
do j = nl , n2
kine = kine + weight(j) * v(j)
end do
c
[ goooog
c
heat(k) = kine / 3.0d0 / (n2-ni+1) / bol
c
return

en:
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a0

aon

an0ooono

a o000

a0

&

subrou

n
implic
parame
dimens
dimens
dimens
dimens
dimens
dimens
real*8

oo

mvx
nvy
mvz
WMVX
wmvy
Wmvz

tine remove (x,y,z,xx,yy,zz,r,dx,dy,dz,weight,
,v,nl,n2,cx,cy,cz)

it real*8(a-h,o-z)

ter (ntmp=300)

ion x(n),y(n),z(n)

ion xx(n),yy(n),zz(n),r(n)

ion dx(n),dy(n),dz(n)

ion fx(ntmp) ,fy(ntmp) ,fz(ntmp)
ion v(n),fv(ntmp)

ion weight(n)

mvx ,mvy,mvz

0
0.0d0
0.0d0
0.0d0

goooooobooooooo oo

do i =
mvx
mvy
mvz
end do

mvx
nvy
mvz

do i =
dx(
dy (
dz(
end do

nl , n2

= mvx + weight(i) * dx(i)
= mvy + weight(i) * dy(i)
= mvz + weight(i) * dz(i)

mvx / (n2 - nl + 1)
mvy / (n2 - n1 + 1)
mvz / (n2 - nl + 1)

nl , n2

i) = dx(i) - mvx / weight(i)
i) = dy(i) - mvy / weight(i)
i) = dz(i) - mvz / weight(i)

goooooboo
x J0ooooooooo

do i =
ey
ez
fy(
fz(
fv(
end do

nl , n2
= - 2z(i) + cz
= y@ -cy

i) ( (dy(i)*ey + dz(i)*ez) / (ey**2+tez**2)) * ey
i) ( (dy(idxey + dz(i)*xez) / (ey**2+ez**2)) * ez
i) = sqrt( fy(i)*x2 + fz(i)**2 )

goooo

do i =
if(

els

nl ,n2

y(i).1t.cy) then
if(£z(i).1t.0.0d0) then
fv(i) = -fv(i)

se
1f(£fz(i).eq.0.0d0) then
write(*,*) ’x error’
stop
end if
end if
e
if(y(i).gt.cy) then
if(fz(i).gt.0.0d0) then
fv(i) = -fv(i)

se
if(£z(i).eq.0.0d0) then
write(*,*) ’x error’
stop
end if
end if
se
if(y(i).eq.cy) then
if(£fy(i).1t.0.0d0) then
fy(i) = -fv(i)
end if

e
write(*,*) ’x error’

el

el

el

goboboooooobobbOOOobOObOOO

do i =
wmv
end do

Wmvx =

nl , n2
x = wmvx + weight(i) * fv(i) / r(i)

wmvx / ( n2 - nl + 1)
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aon

a o000

a0

aon

a o000

do i = nl, n2

dy(i) = dy(i) - wmvx / weight(i) * r(i) / fv(i) * fy(i)
dz(i) = dz(i) - wmvx / weight(i) * r(i) / fv(i) * fz(i)
end do

y oooooooooo

do i =nl , n2

ez = - x(i) + cx
ex = z(i) - cz
fz(i) = ( (dz(i)*ez + dx(i)*ex) / (ez**2+ex**2)) * ez
fx(i) = ( (dz(i)*ez + dx(id*ex) / (ez**2+ex**2)) * ex
fv(i) = sqrt( fz(i)**2 + fx(i)**2 )

end do

ogoooad

do i = nl1 ,n2
if(x(i).1t.cx) then
if(£z(i).1t.0.0d0) then
fv(i) = -fv(i)
se
1f(£fz(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if
end if
se
if(x(i).gt.cx) then
if(fz(i).gt.0.0d0) then
fv(i) = -fv(i)

se
if(£z(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if
end if
se
1f(x(i).eq.cx) then
if(£x(i).1t.0.0d0) then
fv(i) = -fv(i)
end if

e
write(*,*) ’error’
stop

el

el

el

el

els

goboboooooobobbOOOobOObOOO

do i =nl , n2
wmvy = wmvy + weight(i) * fv(i) / r(i)
end do

wmvy = wmvy / ( n2 - nl + 1)

do i = n1, n2

dz(i) = dz(i) - wmvy / weight(i) * r(i) / fv(i) * fz(i)
dx(i) = dx(i) - wmvy / weight(i) * r(i) / fv(i) * £x(i)

end do

z 0000000000

do i =nl , n2
ex = - y(i) + cy
ey = x(i) - cx
fx(i) = ( (dx(i)*ex + dy(i)*ey) / (ex**2+ey**2)) * ex
fy(i) = ( (dx(i)*ex + dy(id*ey) / (exx*2+tey**2)) * ey
fv(i) = sqrt( fx(i)**2 + fy(i)**2 )

end do

goooo

do i = nl1 ,n2
if(x(i).1t.cx) then
if(fy(i).1t.0.0d0) then
fv(i) = -fv(i)

se
1f(£fy(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if
end if
se
if(x(i).gt.cx) then
if(fy(i).gt.0.0d0) then
fv(i) = -fv(i)

else
if(£fy(i).eq.0.0d0) then
write(*,*) ’error’
stop
end if

el

el
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a0

end if

else
if(x(i).eq.cx) then
if(£x(i).1t.0.0d0) then
fv(i) = -fv(i)

end if

e
write(*,*) ’error’

Jooooooooooooooooog
do i =nl , n2

wmvz = wmvz + weight(i) * fv(i) / r(i)
end do

wmvz = wmvz / ( n2 - nl + 1)
do i = n1, n2
dx(i) = dx(i) - wmvz / weight(i) * r(i) / fv(i) * fx(i)

dy(i) = dy(i) - wmvz / weight(i) * r(i) / fv(i) * fy(i)
end do

return
end
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a0 oo

a0 o0

aoaoa o

(2]

anoa o0o0o0a0o0

00000 100000000000 b0obD0o0obOoboboooog

.grp U0 MO data OOOOOOOOO
gooobogooopos DOoOooOd
implicit real#8(a-h,o-z)

real*8 moh

character*16 title
character*32 jobname

parameter(n1=130,nmi=n1%*4,n2=131)

dimension x(n1),y(n1),z(n1),xc(n2)

dimension yall(n2),yspxpy(n2)

dimension ys(n2),ypx(n2),ypy(n2),ypz(n2)

dimension ng(nl) ,ms(nl) ,me(nl)

dimension moh(nmi*nml) ,amo(nml,nml) ,bmo(nml,nml), aei(nml) , bei(nml)
dimension amo2(nmi,nm1),bmo2(nml,nm1)

goooooo

dimension amoall(nml) ,bmoall(nml) ,amospxpy(nml) ,bmospxpy(nmi)
dimension amos(nml) ,bmos(nml) ,amopx(nml) ,bmopx(nmi)

dimension amopy(nml1),bmopy(nmi),amopz(nmi),bmopz(nmi)
dimension abmoall(nmil),abmospxpy(nml)

dimension abmos{(nmi),abmopx(nmi)

dimension abmopy(nmi) ,abmopz(nmi)

call getarg(l,jobname)
gooooooooo

write(*,*) ’> Program Start!’
write(*,*) > 00?7
read (*,1005) number

j=index(jobname,’ ’)-1
open(60,file=jobname(:j)//’.grp’)
read(60,*) title

read(60,*) n,nm,ne

if(n1.1t.n) stop ’nl.lt.n’

read(60,*) (ng(i),i=1,n)

do i=1,n
read(60,*) x(i),y(i),z(1)
end do

read(60,*) (ms(i),me(i),i=1,n)
read(60,*) (m,i=1,n*3)
read(60,*) (moh(i),i=1,nm*nm)
k=0
do i=1,nm
do j=1,nm
k=k+1
amo (i, j)=moh (k)
end do
end do

read(60,*) (aei(i),i=1,nm)
read(60,*) (moh(i),i=1,nm*nm)
k=0
do i=1,nm
do j=1,nm
k=k+1
bmo (i, j)=moh (k)
end do
end do
read(60,*) (bei(i),i=1,nm)
close(60)

write(*,*) ’Data Read Finish!'!’
00000 data DOOOOQOQOO

gooooooooon

MO~2 OO0

do i=1,nm
do j=1,nm
amo?2 (i, j)=amo(i,j)*amo (i, j)
bmo2(i, j)=bmo(i,j)*bmo(i,j)
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a o000

aon

aoon

ao00o

(2]

end do
end do

amo, OO0
do i=1,nm

amoall (i)=
bmoall(i)=
amospxpy(l
bmospxpy (i
amos (i)=0.
bmos (i)=0.0
amopx(i)=0.
bmopx(i)=0.
amopy(i)=0.
bmopy (i)=0.
amopz(i)=0.
bmopz(i)=0.
abmoall(i)=0.0

abmospxpy(i)=0.0
abmos(i)=0.0

abmopx (i)=0.0

abmopy (i)=0.0

abmopz(i)=0.0

end do

OVVOO

COO0OCOO0

do i= 1,nm
j= number

amos (i)=amos (i)+amo2(i, (j-1)*4+1)
amopx (i)=amopx (i)+amo2 (i, (j-1)*4+2)
amopy (i)=amopy (i)+amo2 (i, (j-1)*4+3)
amopz(i)=amopz (i)+amo2 (i, (j-1)*4+4)
bmos (i)=bmos (i)+bmo2(i, (j-1)*4+1)
bmopx (i)=bmopx (i)+bmo2(i, (j-1)*4+2)
bmopy (i) =bmopy (i)+bmo2(i, (j-1)*4+3)
bmopz(i)=bmopz (i)+bmo2(i, (j-1)*4+4)

end do

oooooo

do i=1,nm
amospxpy (i)=amos (i)+amopx (i)+amopy (i)
bmospxpy (i)=bmos (i)+bmopx (i) +bmopy (i)
amoall (i)=amospxpy (i)+amopz(i)
bmoall (i)=bmospxpy (i)+bmopz(i)

end do

a00,p00 OO

do i=1,nm
abmoall(i)=amoall (i)+bmoall(i)
abmospxpy (i)=amospxpy(i)+bmospxpy(i)
abmos (i)=amos(i)+bmos(i)
abmopx (i)=amopx (i)+bmopx (i)
abmopy (i)=amopy (i) +bmopy (i)
abmopz (i)=amopz(i)+bmopz (i)

end do
Data OO
dos.f 00O 00O
gx—éabs(bei(l)-bei(nm))+10.0)/f10at(n2—1)
o=
write(* ,*) ’de = ’,de
de2= de*de
dd=3.0%*de
do i=1,n2
xc(i)=float (int(bei(1))-5.0)+dx*float (i-1)
ys(i)= 0.0
ypx(i)= 0.0
ypy(i)= 0.0
ypz(i)= 0.0
yspxpy(i)=0.0
yall(i)=0.0
end do
do i= 1,nm
do j=1,n2

if(abs(bei(i)-xc(j)).1t.dd) then
ys(j)=ys(j)+exp(-(bei(i)-xc(j))**2/de2)*abmos (i)
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ypx(j)=ypx(j)+exp(-(bei(i)-xc(j))**2/de2)*abmopx (i)
ypy ()=ypy(j)+exp(-(bei(i)-xc(j))**2/de2)*abmopy (i)
ypz (j)=ypz(j)+exp(-(bei(i)-xc(j))**2/de2)*abmopz (i)
yspxpy (j)=yspxpy(j)+exp(-(bei(i)-xc(j))**2/de2)*abmospxpy (i)
yall(j)=yall(j)+exp(-(bei(i)-xc(j))**2/de2)*abmoall (i)
endif

——————————————————————————— c sc: Scaling Factor
sc=1.0/(de*sqrt(3.1415926535))
write(*,*) ’scaling factor = ’,sc

do i=1,n2
ys(i)=ys(i)*sc
ypx(i)=ypx(i)*sc
ypy () =ypy(i)*sc
ypz(i)=ypz(i)*sc
yspxpy (i) =yspxpy(i)*sc
yall(i)=yall(i)*sc
sumys=sumys+ys (i)
sumypx=sumypx+ypx (i)
sumypy=sumypy+ypy (i)
sumypz=sumypz+ypz (i)
sumyspxpy=sumyspxpy+yspxpy (i)
sumyall=sumyall+yall(i)

end do
sumys=sumys*dx

sumypx=sumypx*dx
sumypy=sumypy*dx
sumypz=sumypz*dx
sumyspxpy=sumyspxpy*dx
sumyall=sumyall*dx
write(*,*) ’Sum yall=8 ’,sumyall
write(*,*) ’Sum ys=2’,sumys
write(*,*) ’>Sum ypx=2’,sumypx
write(*,*) ’>Sum ypy=2’,sumypy
write(*,*) ’>Sum ypz=2’,sumypz
write(*,*) ’Sum yspxpy=6 ’,sumyspxpy

j=index(jobname,’ ’)-1
open(62,file=jobname(:j)//’-all.dat2’)
do i=1,n2

write(62,1000) xc(i), yall(i)
end dog
write(62,*) ’#’ ,xc(n2)
close(62)
open(63,file=jobname(:j)//’-spxpy.dat2’)
do i=1,n2

write(63,1000) xc(i), yspxpy(i)

end do
write(63,*) ’#’,xc(n2)
close(63)

open(64,file=jobname(:j)//’-s.dat2’)
do i=1,n2
write(64,1000) xc(i), ys(i)

end do
write(64,*) ’#’ ,xc(n2)
close(64)

open(65,file=jobname(:j)//’-px.dat2’)
do i=1,n2
write(65,1000) xc(i), ypx(i)

end do
write(65,*) ’#’ ,xc(n2)
close(65)

open(66,file=jobname(:j)//’-py.dat2’)
do i=1,n2
write(66,1000) xc(i),ypy(i)

end do
write(66,*) ’#’,xc(n2)
close(66)

open(67,file=jobname(:j)//’-pz.dat2’)
do i=1,n2
write(67,1000) xc(i),ypz(i)

end do
write(67,*) ’#’ ,xc(n2)
close(67)

1000 format(£10.5,f13.8)
1010 format(£f10.5,a)

1005 format(I4)
stop

end
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A4 0O00DODOOODODOOOOOO

000 0000000000000 000000000D00D0DO0O0D "F’0000000O00OD

#!/bin/csh

foreach i(‘/bin/1ls *$file‘)
echo "#"$i

grep woF on $1

grep TOTAL $i

end .
echo final

A5 out DO0OOO0OODOODOO

gobooooobooooooobooboooooooboboo
out JO0O0O0O0O ODOO0OOOOODOOOO
00 TOTAL ENERGY 000000 O0OO0DODOOOOOODO

oo

% use out
% fa X TOTAL > ! data
% out-read.out

oooo
goooooo

x(i,j) , y@,i» , z(i,j) 00000 xyz OO
chargel(i,j) : 0OOO0O

charge2(i,j) : 0OOO0O

energy (i) : TOTAL ENERGY

oooo i0 jOooooo

i: i000 out DOOUODOODOO (i=1, ml)
j: 1000 out DDODDODO jOOOOO (j=1, atomcount(i) )

oooo

oooooboobOoboOoboOoooo

data-1-z : 0JO00000000000o0O0o00o
data-z-chrge : boooooobooooooooo
data-total-charge : X ooooooooood
data-l-charge . 0Oo0ooooooooooooooo
data-n-energy . 0Oooooooooooo
data-energy-charge : UOOOOOOOOOOO

goooooooo

implicit real#8(a-h,o-z)

character*16 tmp

character*32 jobname

character tmpl*1l, tmp3#*3

character tmp2*10, tmp4*5

integer atomcount

parameter (n=1000)

dimension mcount(n),tmp(n),atomcount(n)
dimension x(n,n),y(n,n),z(n,n),chargel(n,n),charge2(n,n)
dimension zz(n,n),a(n,n),tcharge(n)
dimension energy(n),energy2(n)

AOOO0 0O 00 00000000 00000 O 0 0000000000000 O OO0

call getarg(l,jobname)
jo=index (jobname,’ ’)-1

c
write(*,*) ’> Program Start!’
c
[ Li 0ooooooo 1
[ (00000000000000000 mcount(n) OOOOO)
[ gooooooooD mi OO
c
ml = Q
m2 = 0
open(60,file=jobname(: jo))
read(60,*)

do i = 1,10000
read(60,’(a)’) tmpl
if ( tmpl.eq."f") then
ml = m% + 1
mcount( mi ) = m2
GOTO 20
else
if ( tmpl.eq."#") then
ml =ml + 1
mcount( m1 ) = m2
m2 = 0
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a0 o oo

a0

aoaoa o

40

a o000

a o000

60

aoooao

a0

else
m2 = m2 + 1
end if
end if
end dog
close(60)
Li JOgoooooo 2
(00000000oOo0oOooOoOoOoooooooo
oooooooooooooooo)
open(60,file=jobname(: jo))
doi=1, ml
read(60,*)
do j =1 , mcount(i)
read(60,’(a)’) tmp2
if ( tmp2.eq." ") then

0ooooo (oooooooooo )

do k =1, 1000
read(60,’(a)’) tmp4
atomcount (i) = atomcount(i) + 1

if ( tmp4.ne." ") then

do kk = 1 , atomcount(i) + 2
read(60,*)

end do
goto 40

endif

end do
end if

goooooooo
atomcount (i) = 0
end do
close(60)
gooooooo
open(60,file=jobname(: jo))
do 70 i =1, ml
read(60,’(a)?) tmp(i)
job=index (tmp(i),’ ’)-1
tmp (i) = tmp(i) (:job)
000d (nnn ) OOOO
nnn = mcount(i) - atomcount(i) * 2 - 3
nnn2 = atomcount(i) * 3
if(atomcount(i).eq.0.or.nnn2.ne.nnn) then
do j =1 ,mcount(i)
read(60,*)
end do .
atomcount (i) = 0
goto 70
end if

do j =1, nnn

read(60,*)
end do
do j = 1, atomcount(i)

read(60,*) aaa,tmp3,chargel(i,j),charge2(i,j)
end do
do j = 1, atomcount(i)

read(60,*) aaa,tmp3,x(i,j),y(i,j),z(i,])
end do
read(60,*) tmpl , tmpl , tmpl , energy(i)
read(60,*)
read(60,*)

contipue
close(60)

gooooooooon
z 0000000

do i 1, ml
do j = 1, atomcount(i)
zz(i,j) = abs(z(i,j))

goooooob 1000

do i
do j

1,ml
1, atomcount (i)

a(i,j) = sqrt( (x(i,j) - 0.7091) **2 + ( y(i,j) - 1.2282) #**2)

end do
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aon

aon

a0

a0

end do

total charge 00

do i= 1,ml
tcharge(i) = 0.0d0
if(atomcount (i) .ne.0) then

do j = 1, atomcount(i)
tcharge(i) = tcharge(i) + chargel(di,j)
end do
end if
end do
goooooo

open(61,file=jobname(:jo)//’-z-charge’)
doi=1, ml
write(61,*) tmp(i)
do j =1 , atomcount(i)
write(61,1001) zz(i,j),chargel(i,j)
end do
end do
close(61)
open(62,file=jobname(:jo)//’-1-27)
doi=1, ml
write(62,*) tmp(i)
do j =1 , atomcount(i)
write(62,1002) a(i,j),zz(i,j)
end do
end do
close(62)
open(63,file=jobname(:jo)//’-total-charge’)
doi=1, ml
if(atomcount(i).ne.0) then
write(63,*) tmp(i)
write(63,1003) atomcount(i),tcharge(i)

close(63)
open(64,file=jobname(:jo)//’-1-charge’)
doi=1, ml
write(64,*) tmp(i)
do j =1 , atomcount(i)
write(64,1004) a(i,j) ,chargel(i,j)
end do

end do
close(64)
goooooooooobooao

20 write(*»,*) " 000000000000 OOOOO”
write(x,*) * 000000
write(» ,*) 00000000000 OOOOOO”
read(*,*) what

if(what.eq.1) then
call kenergy (ml,atomcount,energy,energy2)

oo

open(65,file=jobname(:jo)//’-energy-n’)
do i 1, ml
k = atomcount (i)
if (k.ne.0) then
write(65,1007) energy2(i) , k , tmp(i)
end if
end do
close(65)
open(66,file=jobname(:jo)//’-energy-charge’)
do i =1,ml
k = atomcount (i)
if (k.ne.0) then
write(66,1006) energy2(i) ,tcharge(i)
end if
end do
close(66)
open(67,file=jobname(: jo)//’-test’)
do i 1,ml
k = atomcount (i)
if (k.ne.0) then
write(67,2000) z(i,1),energy2(i)
end if

end do
close(67)

goto 100
end if

if(what.eq.2) goto 100
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O000 000 60 000060 000

a0

a0

a0

goto 90
c
100 write(*,*) ’Program END!’

C1000 format(£17.4,f10.4,f10.4,f12.6)
1001 format(f17.4,f12.6)
1002 format(f17.4,f10.4)
1003 format(I10,f12.6)
1004 format(f17.4,f12.6)
1005 format(f17.4,f10.4,f12.6)
1006 format(£10.5,f13.6)
1007 format(£20.5,I7,’ ’,al0)
1010 format (f5)

2000 format(f10.4,f15.5)
stop

end

subroutine kenergy (ml,atomcount,energy,energy2)
oooooboobOoboOoboOoooo

Ech : O0OOOOOQO total energy
1 : C24H12(no-SYM) O 2 : C24H12(SYM)
3 : C54H18(no-SYM) O 4 : CB54H18(SYM)

Ex : 0000000 total energy
1 :FO 2: C103 : BrO 4 : I05 : Li

atomcount . ooooooo
implicit real#8(a-h,o-z)
integer atomcount

dimension energy(ml),energy2(ml)
dimension atomcount(ml)

goooooooooooon

write(*,*) ’ C24H12(no-SYM) - 100 C24H12(SYM) - 2,°’
write(*,*) ’ C54H18(no-SYM) - 300 C54H18(SYM) - 4,
write(*,*) ’ another - O ’

read (*¥,*) ng

gooooooooo

write(#,%*) 'F . 1,C1 - 2,Br » 3,1 4’
write(*,*) ’Li -5 °

write(*,*) ’ another - 0’

read (*,*) nx

Echl = -3027.95421
Ech2 = -3027.13237
Ech3 = -6675.72785
Ech4 = -6675.43907
Exl = -437.51717
Ex2 = -315.19495
Ex3 = -352.5399
Ex4 = -291.45509
Ex5 = -5.30000

Ex6 = 0.00000

if(ng.eq.0) then
write(*,%) > OO0 TOTAL ENERGY =’
read(*,*) Ech

else

if(ng.eq.1) Ech = Echil
if(ng.eq.2) Ech = Ech2
if(ng.eq.3) Ech = Ech3
if(ng.eq.4) Ech = Ech4

end if

if(nx.eq.0) then
write(*,*) > 000000 TOTAL ENERGY =’
read(*,*) Ex

else
if(nx.eq.1) Ex=Exl

if(nx.eq.2) Ex=Ex2

if(nx.eq.3) Ex=Ex3

if(nx.eq.4) Ex=Ex4

if(nx.eq.5) Ex=Exb5

if(nx.eq.6) Ex=Ex6
end if

if(Ech.eq.0.0d0) stop
if(Ex.eq.0.0d0) stop

oo

do i 1, ml
k = atomcount (i)
if (k.ne.0) then
energy2(i) = -(Ech+Ex*k-energy(i)) / k
end if
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end do
return
en

newpage

A6 arc0000D0ODOODOOO

c
c mopac arc JO0UO000000OO000OO0O0OOOOOOO
[ gobooooooooo
c
[ o0 240 0O
c
[ oooo (X 00 ooo))
c
c % use arc
c % fa-X > ! data
c % arc-read.out data
c
[ oooo
c
c data-total-cherge
c data-in-distance-charge
c data-out-distance-charge
c
[ oooo
c
implicit real#8(a-h,o-z)
character*32 jobname
character tmpl*1l, tmp3#*3
parameter (n=1000)
dimension x(n,n),y(n,n),z(n,n),charge(n,n),tcharge(n)
dimension kk(n,n)
dimension mcount(n)
integer check(n,n),in(n) ,out(n)
real*8 lengthin , lengthout
c
call getarg(l,jobname)
jo=index(jobname,’ ’)-1
c
write(*,*) ’Program Start!’
c
ml = 0
m2 = 0
m3 = 0
md = 0 R R R
open(60,file=jobname(:jo))
read(60,*)

do i = 1,10000
read(60,’(a)’) tmpl
if ( tmpl.eq."f") then
ml = m% + 1
mcount( m1 ) = m2
GOTO 20
else
if ( tmpl.eq."#") then
mli=mi + 1
mcount( m1 ) = m2
m2 =0
else
m2 =m2 + 1
end if
end if

end dog

20 close(60)
goooooboo
open(60,file=jobname(: jo))

doi=1, ml

read(60,%) tmp3

do j = 1, mcount(i)

read(60,1000) tmp3,x(i,j),k,y(i,j),k,z(i,]j),k,
&kk (i, j) ,k,k,charge(i,j)

a0

close(60)
goooooobo
check(i,j) =00
check(i,j) =10

doi=1, ml
do j = 1,mcount(i)

a0 o oo

if(kk(i,j).le.7) check(i,j) =0
if(kk(i,j).eq.8) check(i,j) =1
if(kk(i,j).eq.9) check(i,j) =1
if(kk(i,j).eq.10) check(i,j) =0
if(kk(i,j).eq.11) check(i,j) =1
if(kk(i,j).eq.12) check(i,j) =1
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a0 0000 600 0 60 0 00 aoo

a0 o o0 oo

a0

if(kk(i,j).eq.13) check(i,j)
if(kk(i,j).eq.14) check(i,j)
if(kk(i,j).eq.15) check(i,j)
if(kk(i,j).eq.16) check(i,j)
if(kk(i,j).eq.17) check(i,j)
if(kk(i,j).eq.18) check(i,j)
if(kk(i,j).eq.19) check(i,j)
if(kk(i,j).eq.20) check(i,j)
if(kk(i,j).eq.21) check(i,j)
if(kk(i,j).eq.22) check(i,j)
if(kk(i,j).eq.23) check(i,j)
if(kk(i,j).eq.24) check(i,j)
if(kk(i,j).ge.25) stop

T | | | I | 1 [ [ O [ [
PR ORFRLORRLORREO

end do
end do
doi=1, ml
out(i) = 0
in(i) =0

do j = 1,mcount(i)
if (check(i,j).eq.0) in(i) = in(i) + 1
if (check(i,j).eq.1) out(i) = out(i) + 1
if (check(i,j).ne.l.and.check(i,j).ne.0) stop

end do
end do

total charge 00

do i =1,ml
tcharge(i)=0.0d0
do j=1,mcount (i)
tcharge(i)=tcharge(i)+charge(i, j)

end do
end do
ml . googd
charge(i,j) i Jgooogg joooooooo
tcharge (i) i J0000opooooo
mcount (i) i Joooooooooooo
kk(i,j) i 0000000 jOooooooooooooo

in(i) : i 00000000 DOOOOOOO
out(i) : i D0OD0OO0OOODDOODOOO

goooo
(0000DooD) Xoooooo)
open(61,file=jobname(:jo)//’-total-charge’)
doi=1, ml

write(61,1001) mcount(i),tcharge(i)

end do

close(61)

ogoooad

(ooog) [quRED} (oooooo)
in : 0J0OOODOOOO

out : UOOOODOODO

open(62,file=jobname(:jo)//’-in-distance-charge’)
open(63,file=jobname(:jo)//’-out-distance-charge’)
doi=1, ml
do j = 1,mcount(i)
if (check(i,j).eq.0) then
write(62,1002) x(i,j),charge(i,j) kk(i,j)

end if
if (check(i,j).eq.1) then
write(63,1002) x(i,j),charge(i,j) kk(i,j)

end if

if (check(i,j).ne.1l.and.check(i,j).ne.0) then
stop

end if

end do
end do
close(62)
close(63)
goooooooobooo

open(64,file=jobname(:jo)//’-in-length’)
open(65,file=jobname(:jo)//’-out-length’)
doi=1, ml

lengthin 0.0d0

lengthout 0.0d0

do j =1 , mcount(i)

if(check(i,j).eq.0) then
lengthin = lengthin + x(i,j)

else
lengthout = lengthout + x(i,j)
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c
1000
1001
1002
1003

end if
end do
if(in(i) .ne.0) then
lengthin = lengthin / in(i)
write(64,1003) mcount (i) , lengthin
en i{
1£(in(i) .ne.0) then
lengthout = lengthout / out(i)
write(65,1003) mcount(i) , lengthout
end if
end dog
close(64)
close(65)
open(66,file=jobname(:jo)//’-in-charge’)
open(67,file=jobname(: jo)//’-out-charge’)
doi=1, ml
chargein 0.0d0
chargeout 0.0d0
do j =1 , mcount(i)
if(check(i,j).eq.0) then
chargein = chargein + charge(i,j)
else
chargeout = chargeout + charge(i,j)
end if
end do
if(in(i) .ne.0) then
chargein = chargein / in(i)
write(66,1003) mcount (i) , chargein
en i{
1£(in(i) .ne.0) then
chargeout = chargeout / out(i)
write(67,1003) mcount(i) , chargeout

close(66)
close(67)

write(*,*) > Program END!’

format(a5,f13.8,13,f13.7,13,£13.7,13,15,15,15,£12.4)
format(I17,f13.5)
format(£f17.4,£f12.4,15)

format(I7,£f17.4,f12.4,15)
stop

end
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00 B

MOPAC 000 DATA

MOPAC ODOUODODOOODOOODOOODOOOOOOOOOODODOOOOOO
0000 B1OODO Cs4Hs 000000000 i 0000000ODOOO0ODOO0O0OO
0000 B2000 CyyH,O00OO0ODODOOF OODODODOODOODOODOODOO
goooogg

B.1 OO00O0OO0ODODOODOOOODOOOO

n=000800 m=30.006000000000000000000

SYMMETRY T=1.0D NOINTER GNORM=0.5 &
PM3 GEO-OK UHF PULAY SHIFT=2
Graphite Li symmetry adopted MOPAC coodrdinates

C 0.00000000 0 0.00000000 0 0.00000000 0 0 0 0
C 1.41815137 1 0.00000000 0 0.00000000 0 1 0 0
C 1.41815137 0 120.00000000 0 0.00000000 O 2 1 0
C 1.41815137 0 120.00000000 0 0.00000000 O 3 2 1
C 1.41815137 0 120.00000000 0 0.00000000 O 4 3 2
C 1.41815137 0 120.00000000 0 0.00000000 O 5 4 3
C 1.41815137 0 120.00000000 0 180.00000000 0 1 2 3
C 1.41815137 0 120.00000000 0 0.00000000 O 7 1 2
C 1.41815137 0 120.00000000 0 0.00000000 O 8 7 1
C 1.41815137 0 120.00000000 0 180.00000000 0 2 3 4
C 1.41815137 0 120.00000000 0 0.00000000 O 10 2 3
C 1.41815137 0 120.00000000 0 0.00000000 O 11 10 2
C 1.41815137 0 120.00000000 0 180.00000000 0 3 4 5
C 1.41815137 0 120.00000000 0 0.00000000 O 13 3 4
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— Electronic structure of fluorine doped graphite nanoluster
R.Saito, M.Yagi, T.Kimura, G.Dresselhaus, M.S.Dresselhaus
J. Phys. Chem. Solid (accepted) Dec. 14(1998)

— Electronic States in Heavily Li-dopes Graphite Nanoclusters
M.Yagi, R.Saito, T.Kimura, G.Dresselhaus, M.S.Dresselhaus
Submitted J. Mater. Res. Feb. 15(1999)
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— Li and F Doped Graphite Nanoclusters
R.Saito, M.Yagi, A.Tashiro, T.Kimura
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